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NEO3 configuration
nSet18 nSet19 nSet22

2020/01/16
2019/10/22 2019/11/18

DET 0 DET 3

DET 4 @ @ DET 11
DET 8 DET 5 DET 6 DET 7

DET 3 DETO DET 3

DET O

DET 4 @

DET 11
DET 8 DET 5 DET 6 DET 7 DET 8 DET 5 DET 6 DET 7

Run: 628(433 hour) Run: 653(311 hour) Run: 699(96 hour)
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NEO3 new bdt(bdtB)
Run : 653(311 hour)

Precut : mpar ) -2, bdt > -1, rgcn ) -1, energy { 4

Signal : multiple hit events
Background : single hit events

2020-02-05

TMVA overtraining check for classifier: BDT

H 07 sigrlal (test sample)

E@ Background (test sample)

« Signal (training sarhple) |

= Background _{tra ning sample)

|I'H

(1/N) dN/ dx

—Kolmogorov-Smirnov test: signal (background) prnb_;_:bili‘iy = |0( 0

U/O-flow (S,B): (0.0, 0.0)% / (0.0, 0.0)%

BDT response
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NEO3 new bdt(bdtB)

Run : 653(311 hour)
Precut : mpar ) -2, bdt > -1, rgcn ) -1, energy { 4
Signal : multiple events
Background : single events

Input variable: qene

H7=] Background

(]
win
SO0 10001 2001 400 6001 SIR0MIEZ00
qene [F]

WWD-fhow (5,8} 40,0, QU0 / {0.0, D0

Input variable: lhs

{10} i/ 0.0405 F

WO-flow (5,80 (0.0, 000 {0, D

32 34 36 3B 4

s [F]

Input variable: mpar

{1/M) dM / D.0226 F

Fwa S
2 .
mpar [F]

Input variable: lhn_0
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Input variable: vpar

Input variable: Ihn_2
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Input variable: lhn_a
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NEO3 new bdt(bdtB)

Test Train

ha
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NEO3 new bdt(bdtB)

single multiple
bdt_single(0.5<energy<1) bdt_multiple(0.5<energy<1)
P [ l Train
0.5¢energy<1 DIM' M I T Test
Ej; |-|-||-|—D.4I = I—D|.3- lllll PR .1I 0 I I-[).1I = ;3{2 —qJESI = I—DIAI = I—DI.SI I N[ —D1|V N 0 = IDHI = ;‘{1)'.2

bdt_single(0.25<energy<0.5) bdt_multiple(0.25<energy<0.5)

0.25<energy<0.5 : \"‘H
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0.5<energy<1 region is OK but 0.25<energy<0.5 region have biased(low statistics)
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NEO3 new bdt(bdtB efficiency)(0.5<energy<1.0)

Run: 640, 647, 653(520 hour)

NEOS3_bdtB_single NEOS3_bdtB_multiple
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NEO3 new bdt(bdtB efficiency)(0.5<energy<1.0)

Run: 640, 647, 653(520 hour)

bdtB_Ipar_sin bdtB_lpar_mul
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NEO3 new bdt(bdtB efficiency)(0.5<energy<1.0)
Run: 640, 647, 653(520 hour)

single_spectrum_bdt m_bdt
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NEO3 new bdt(bdtB efficiency)(0.5<energy<
Run: 640, 647, 653(520 hour)

single_spectrum_periodic4 multiple_spectrum_cut

1.0)

S on ® ;£ | bdt)-0.14(assume 100% signal)
i J( bdt+bd£A+bdtB cut
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0.5 keV~0.75 keV : 7.58 dru, 0.52 %(14.40 dru)
0.75 keV~1.0keV :7.47 dru, 0.73 %(10.12 dru)
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Backup



NEO3 BDT

single

multiple

2020-02-05
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NEO3 BDT
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